Lo B 3 Lot
Subject Code - =

AGRGNGMY

=)
=l | ."At-mqsphere exie of about . “

A 1600 km \B ) 1600 miles

f {C)1600 metres ) 160 km '

ioxide in pure air on volume basisis .\ 1
(B) 0.33%
(D) 0.003%

' Average compositt
(A) 3.3%
(C) 0.033%

Densest part of aimosi
(A) Mesosphere
(C) Stratosphere

(B) Thermosphere
(D) Troposphere

Solar conslant is equa
(A) 194 callcmmin
(C) 1.94 callcm/min

.ty f \V\"df ,‘_“ ,\
nal |apse rate

(B) 19 4 calicm?/min

(O) 0. 194 ca\lcmzl"n.n )

i °; 100 fee +

ure gradientis:

(B) 6.5°F/ 1000 feet —

’ (D) 10°F/ 4000 feet
.orth and south latitudina!l be't of equator:

(8) 20 to 25°

l :
@ - B ~ - | (D)0 1o 5°
— * : Th r’nfall inindiais:
_a : By soon
estmonsoon
= C'i.gmwn
D) Cold weather period

~ - S

& 8. ' The number of agroclimatic zones of India is _
— = (A) 15 (B) 10 .
- (C) 7 (D) 17 - ,
= : = < pAk

) 9 m{wmﬁMsynme&M;,acwe radiaticnis L ——
= (A) 0.3 - 0.6 ym \ (B) 0.4 - 0.7 um
1 (C)05-08ym (D)0.6 - 0.8 ym
- 7 ’ = - .
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Tempe-rate- cereal crops afe : .

(A) Day-neutral plants (B) Short-day plants . INa

(%ong-day plants . | (D) Nong of these B ;"Ca; Mo) ;
. . \ D

Heat unit is the relationship between - -

(A) Mean temperature and base lemperature ’ Na

(B) Maximum temperature and minimum temperature D) \I‘Ca*' Me)

75

177

"~ JA) Silver iodide

Pariicle diameter
(A)0.2-0.02m
(CY0.2 -2 mm

B) 0.02 - 0.002 mm
(D) None of them

Optimum pH range
Ar50-65
{Cy70-85

manganese is
(B)80-7.5
(D) 5.0 and below

Classification of climate based on dependabl
(A) Papadakis ) (B)
(C) Hurgreaves s

(C) Mean temperature above base temperature A f ' =
(D) Mean temperature below base temperature . 1 O
/r\ . i A -
The line drawn on a map connectmg points with e called : i
(A) Isobars (B) lsoba Y A 1
(C) Isohyet . L
Tw.

as proposed by

walt —

ili
- Soil with EC more thar oredthan 15 and pH iess than 8 5 s classiiea as
(A) Saline By Saline alkal:
(C) Alkali (D) Neutral
Chemical amendmen ali soil is:
/(A) Gypsum . (B) Calcium chioride ——
(€) Phosphogypsu (DYAll of them

3 la ate i is:
J(SO (D) (!.\1H3)3$O4

(B) 0.5tc 1.0 g/cc
(D)2.8tc 3.0alcc

lnstrument used to measure the haiance b

energy is : .

(A) Pyronometer ' (B)

(C) Net radiometer =
/C_) -
The material used to make artificial raln fro

(8)
(C) Cadmium iodide

" Ashortage in supply of water in soil to meet t
(A) Meteorological drought
(C) Hydrological drought

(C) NH

Under Seventh Approximation soil cla;sxf cation,
(A) 8 By 11 2

(C) 14 (D) 1=
The horizon of lluviation in a soil profile i IS

(A)C v

C)A

(B) Methyl orange
h I : iphenyl ami
alein (D) Diphenyl amine ~.

he C:N ratio of normal soil is

| | 4A) 12 - 1 B)18:1
Which one of the following clay mineral has the highest CEC - (C)24 .1 (0}30:1
(A) Caohr.ute.. ' (B) Montmorillonite
.@_) ermiculite . (D) lite " The compound obtained when arthophosphoric actd is healed to 593 K
(A H PO - (8) HP S—
(C) PO, _ OIPO
E+4 |
E3

TE e

mmg chemical is used zs indicator in organic carbon estimation .
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6\'\ ¥he centra a! anain of lllflf‘l/n’l aesiivlm is

A) South ML‘\ICEH centre
\B) Chilean centre

-\'\ The chromosome number of chickpez is :

2(A) 2n =16 (B)2n = 32
(

(C 2n=22 D) 2n = 24

- E(C) Mediterranean centre ' |
~\'\‘(D) Near Edstern céntre - —

The biclogicai name of white jule is
2 (Ax.Corchorus capsularis

*(B) Corchorus olitoris -
..(D‘) Corchorus {rilgculass.

~

(C) Corchorus. custuans

The plants with male and female flaveers on different plants are called :

]\ (A) Dicot (B) Dicliny
- (C) Dipcious (D) Dichogamy

2

*7

x»  Symptoms cf calcium dEfICIEﬂC) appear on

_._E_\ (A) Lower leaves erminal buds
..\:3 (C) Middle ieaves s, (D)-AII. leaves
M5 which one of the followmc isa 03 plant :
“—— :
. (A) Sorghum : .(B) Maize
___{z (C) Pearimillet , _,#Q%W_heal
_' 2 - ,J e 0 ,/

> Relalive growth rate is a measure of =

.+ (A) Ratic between lgatarea to ground area
'(B) Rate of crop growth in unil time
(C) Rate of growth per unit ground area
wdD)Rate of growth per urit dry | marter

,®f
‘Which one of the following process resu

{A) Anabolism

[}
I

Its in refease of energy :
(B) Metabolism '

—L-J é‘_j ;-1 ‘

[ SOULNING Jp OF WAKST MOIBCLEZS 00 13 =us 1 (e Di2sanes of suniighi s ca
(A4) Phytosynthe sis B F Tytolysis D

(Ci Phytophosphorylation 1.3-'1 Phosphoryiation ™ .

1/

Which one ofthe following elemenit is 3 constituent of protoplasm - Yy

(A) Potassium J (B) ircn

(C) Sulphur {C) Calcium

/ Which onz_of thetfollowing element is.raoblis-in-planls-butimmebiie-in-se e

(A) Sulphur (B) Boron
{C) Phosphorus (Dj Zinc

Which one of the following s sulphur contatning amino acid

(A) Tryptophan (B) Aniline S
(C) Lusine ~{D) Cystine

When does the stomata open ? .
ij When the guard ells areinflaccid concition 7
i) When the water potentizl of guarg ce'lls is lower than that of adjacent cells

i) When there is an accumulalion of ‘K :ons in the guard cells
iv) When waler enters into the gua-d cells

(A). i and iv (B) i and iii

(C)iiand iv . (D),ii, iii and iv

m

' ﬁ’hé light generated reducing power is - T

(A) FADH, . (B) NADH,

C) NADPH, (D) ATP
(&) '

Which of thefollowing process takes place in evolution of plants a
i) Crossing over ii) Mutation iii) Linkage iv) Coupling
(A)1andii (B) i, iii and iv

(C)iandii, - (D)

The 5 — carbon compounds produced during dark reaction are
(A) Xylulose phosphate: N -

(B) Seda hyptulose phosphate

(C) Ribulose bis phosphate -

(D) Ribose phosphate -

T 1 e
Out of ke two.growth,substances mentioned below, one is @ natural auxin and the
other one is a synthetic auxin. They are respectively :

C(AYNAA, 24D (B) GA, NAA
(C) I1AA, 2,4-D (D) NAA, GA--

(C) Calaboiism— (D) Physiology
o l
38 Which part of the plant cell is known as power _house -
-~ (A) Golgi bodies (B) Mitochondria
r——d (C) Lysosomes (D) Ribosomes
“t .o . . . - |
30 Under normal weather conditiors, maximum {ranspiration'is through =
—=  (A)Culicle (B) Lenticular
(G Stomata (D) Epicermis
;

-
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| gw0e 09O Ly A
. ) X i = a—
~ 49 The weight of 1000-grains of hybrid maize is aboui - . \ﬂﬁ iy %:5 T s ane v e vats o '—\/l
: © (A)150g ) (B) 200°g ‘\é ‘IEQ oy L/ Mroad be& fu["(_’:j‘:l; : - st ,'é';q(i‘;.ua'z -;.,jn;.; ,.;mu:. Sh 3o . !
! 01300 CoAw N . 18y Contour punds >
.((_3) 250”9 o ) OIS )" e (C) Terrace cultivation {0) Parcoiation pands =
59{ To obtain a plant popuiation of 66.plants / m?, the plant gedfn%-is.(b'be : \/ . ¥ a1 Nibping is 2 . P/T
~ (A) 20 x 10-cm ’ (B1 15x 10cm : : Do (P'F)’Psmg is & practice in . o
\ D) 15 x 15 cm g LS ) Sugarcane (B) Cotton —— -
(C)20x 15¢cm (D) i S ? (G astor (DrPigeonpea
B Y D rraddition to*P-sirgle-super phosphate contains following quantity of Ca & S respectively' ¢ _ : [S—
! (A) 218 12% (E)12 & 21% ' ., 62/ = The iargest producer of ch‘_lckpea is* B -
46% “(O) 46 & 8% R "¢, i (A) Bangladesh (B) india [ SS—
(C)18& (V) ity A : ;
: P-\Q 3.\’)_ G’q_fz_\ A3 Y {C) China (D).Indonesia
@ The nitrogen fertilizer most suited {or alkaline soilis ' [ AN ! Ied (g ) . h Y U ) RV S €~
(A) Urea (B) Ammonium chioride P Js 4!.:“ p innaena;qruarefme»\er of rice seedlg;g; .ause? t:ét dapog method are sufficientic iranspiaf i &
. . 1 ’ ; e €3 0 in the main field e ——
©) Arnmoruum sulphate nitrate (D) Ammonium phosphate (&) 100 rm? 20 e — '2) 200
: C \ 2 -
. 53 The planting row spacing recommended for fechanical harvesting of sugarcane 1S (ﬂ“’) 300 m* (D} 400 m e
: _ e .
~ (('2))?2‘:1 ((g)) ?'2(()) 2 64 Maize type having small kerrels it hard corneous endosperm is calisy
)~ ! - (A) Dent corn {B) Flint corn
P) 54 Which one of the following chemical i§ used 1o controi suckers in tobacco: . (?) Pop com :D) Pod corn
(‘é) ';:\AA/;\ (g) gi/ @ The most common 'sorghum-basedsintercropping system followed in crylands 15~ e\
© o i) . (A) Sorghum + Pigeonpea .
: o o i & o (B) Sorghum + Sunflower L
( 55. Groundnut+.p|geonpea intercropping system Is pepulalr in: L (). Sorghum + Greengram —_—
(8) Eastern plateau (B) West coast plains (D) Sorghurfi + Sesame ‘\
(C) Gangetic plains {D) Southern plateau L~ —
o . ! 7 86.) The effeclive foot zone deplioi peanut crop is: cL\
/s Cereals are grown in what percentage of world's. aravle land? % AVE0 ;
" s (B) 63 (A)B0 cm (B) 90 cm e
) @) B) : (€) 120 em (D) 150 cm ~
(C)53 (D) 43 » Ay
. o 4 - / Thé_ periedicity of publication of the Indian Journal of Weed Scienceis -~ Q
2 57 Optimum depth of sowing for most field crops 1S (A) Monthl B) Bi n s .
A) 1-3cm ©(B)3-5cm Y (B) Bimontnly (N
%C) 5-8tm (D)8 -10cm (CyQuarterly (D) Half-yearly
<) e
_ ' | . ) , 688« Iadry farming, th il ne
.~ 58.  Which one of the following equipment is used for fertigation? & \) 9 w/g;t“g‘g# e crop growth will e “O?g)a:p'g:‘_e: R
e (A) Knapsack sprayer ° (B) Ventury t \ _ T — C’\
. s . . (CYPPT =PET (D).PET = Temp.
p Oripper (D) Tine type Cultivator : Q
- . , : ; i 0\\‘6'9. The major soil type of dry farming tracts of Indiais:
\99_ A micro-watershed has an area of : : . MR
) , S 0y (A) Vertisol (B) Alfisol Q
{A) Less than 100 ha {fn (B) 100-250 ha ML (©) Incepliso (D) Avidisol
(C)250-500ha (nalw (D) 500~ 1000 ha (o I e T | : <
E3 ‘ <

.
i &1

~
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R e g

'\?3 . . = =% -11;5‘
I\Q . . . \ ; ')' . . : :
- ; )

P VT SRS TS SRRy S S
USL MWCNING 7SiSis (WO . . oot . P
a1 Alosy safe Lol Of Birel 2oniEnl nl A L inhar SPF3Y 1SNg NGk uokime 2nran -
o )
11 5% . 83 1.0%
n e
y iDi3%

A) Primary lillagg ~ (B) Secondary illage
..4(:) Preparalory tillage @Anlercultivation

~ihich one of the country has maximum productivi
* (A) India 4B) Chin

I\%‘S) Indonesia D)

'7\%rhe optimum plant poputation for aéhieving hi
"’:}(AT 55000 plants/ha (B)
[—\C) 75000 plants/ha

@ The T, plants are ihan C, planis because
‘ (A) They lack phot

(B) CO, acceptor i

(C) They have two

(D) None of the abov

folfar spray to pulse crops is®

The form of fertilizer re

: i B) DAP
)\\Q\'Vhich one of the following is a composite mai (A) Ammonium sulphate § D; ol
the country . ' (C)Urea ( s
(M) Vijay

. 84 Boron in plants is involve
. {A) Osmotic and icnic re
(R} Development and gr
(C) Energy transfer

;\: (C) Naveen

%@ Sorghum poisoning occurs in znimals whe

{(A) 100 ppm T g i
i\3 {C) 300 ppm \/D}’\Jell division and me
o~ : ' ! t af and rosetti characteristic symptoms due to deficiency of .
~ Which state of India leads in area under arv
- (A) Pqn]ab : (D) 2n
— (C)MP.

2 i 10d involves analysis of plant tissue for nutrient
F. The oplimum moisture content in wheat grain .

: , § \
) rc
(A) 10% (B) 1 IR (#
(C)14% (D) 16% IR 3

e _(BY€rop logging

P “(D} None of them

r Which .stale has the highest productivity of groundnut’ _ | e ndalion (kg N- P,O, — K,Orha) for wheat is ; o
= .(A) quqra’. (B) Andhra Prade \ ; E (B) 125-60-30 _

rﬂ {C) Tamil Nadu (D) Karnataka : ¥ (D) 60-30-20

§

Tre Ca content in rock phosphate is
(A) 15-20% (B) 20 -25%
(C) 25-30% 30 -35% 3¢

A) Growing point (B) Older leaves ~ —"
(C)LMiddle leaves , (D) New leaves

e .\; 3

ﬁ*@\) 89. Hydrogeﬁ is considered to be - , ;o
e (A) Trace element 48) Basic nutrient

-(C) Macro nutrient (D) Micro nutrient

The Fe content in ferrous sulphate is
(ﬁ) 9% BT 19% -
(C)29% Dy39%

LD b

gy .- | " ,
)7 Which f ollowing ei s Fe defici ; < ’ ' - - .
ch one of the following eie ment encourages Fe deficiency : M t.~90.  The critical concentration of boron required for normal piant growthis? ..

Z—-’ EC)) s - -tg)‘ {Bﬁﬂ . (A) 0.01 {0 0.05 ppm (8)0.02 to 0.2 ppm P
e o S e — {C)0.1t0 1.0 0pm’ (D)05to 5 ppm
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Which of the following nutrient deficiency causes whip taii sympioms in Caulifiower -

(A) Boron (B) Molybdenum
(C) Zinc (D) Copper
Khaira disease in rice is dué tFue deficiency of : o

(A) Zinc . . (B) Manganese
(C) Sulphur ’ (D) Boron

4 13 {hich o the folowing is ot cequicedt for gl of hacleria -

(C) Oxygen

(A) Carbon

(B) Nitrogen
(D) Suiphur

—~—

Which of the followir_\g is an anéle_robic microorganism .

(A) Bacillus
(C) Pseudomonas

The process of use of microorganisms to rgmove salts from soil is called * "

(B) Phytoremediation
(D) Oxidation

(&) Bioremediation
(C) Chelation

(A

(B) Zlostridium
(D) Streptomyces

e

The inoculation of seed legumes with Rh:zomum culture is done :

(A) 12 hrs. before sowing
(C) 2 days before sowing

The most sensitive pariod of water stress for barley is :
- (A) Shooting & heading

(C) Flowering to maturity

The average water use efficiency of millet crops.is

(B) t.day before sowing
(D) 3 days before sowing

(B) Milk & dough stages
(D} \Jegetalive to flowering

(A) 8-10 kg/ha mm _ “(Bi 12-15 kg/ha mm -

(C) 15-18 kglhamm (Dy20-22 kg/ha mm

Which one of the following method of irrigation is recommended for cotion -
- (A) Flood ) (B) Check basin

(C)Drip . (D) Furrow

The energy statys of soitwater in submerged soil is ¢

(A) C bar . ~ (B) -0.33 bar

(C)-15bars (C)-30bars T

The discharge of water from a V notch (90%) is computed using the formula ;

(A) Q=0.0138 Hz* : (E) Q@=10:138 H2?

(C)Q=1.38 H E (O) Q=138 H

E-12

|
T3S NG ation iz a modifiad main S atea

(A} Border irrigation

(€) Furrow irrigation g
c—
IThe equipmenl used for measuring perinanent wilting point is |
\A) Neutron probe “(B) Pressure flate apparatus o~
(C) Tensiometer (D) All the zhave
~
o
The quantity of water requifted to produce onz kg of nce s S —
(&Y 7050 T , © 24001 S
(C) 5200 1it. : (D) 10109 tit -
() ‘ ©
Sall encrustation in drip fines can be alieviated by ciearing with . .
(A Citric acid (B) Sulphuric 3cd e e
{C) Hydrochloric acid D) Nitric acid <
\‘//H‘/ (8)] o -h\e
WWhich one of the following is presslriz2d irnc3tion sysiem !
(A) Tank irrigation B 1 apirnigation Zowi¥ ot
{C) Surge irrigation (D: Canai tncation

Water requirement of sugarbeel crop is 1 — 556167

*
v(A) 700 — 900 mm BT500-700 mm H hisers
(C) 900 - 1200mm (D) 1200 — 1500 ram / A’P 7 sh e
. : [asse
: \I\)\th an average discharge of 20 lit. / second, a pump itrigates one ha for 8 hours. The €
depth ofiwater applied would be s L2
(A) 5.75 et ®675cm T T . @
(C)i7.85 cm ~ (0Y4.75cm r% grms

A groundnut eropis irfigated at IWICPE ratio of 3.5 with 6 cm depth of irrigation. Which
one of the fallowing would be the CPE: at the time of wrigation -

(A) 6.em - (B)8cm N 4
(Cy10 om (D)1Z cm ‘ Wl f~-
boors s
The non-available and available water to the planis are respectively © (g g (|
(A} Capillary water, hygroscopic water :
(B) Gravitational, capillary water (
(C) Gravitational, hygroscopic water ,‘
(D) Capillary water, gravitational water \
One hectare centimeter (1 ha-cm) of water is equalto” e ! ﬁ_,‘\‘g“-. ‘
(A)1000 litres {B) 1lakh lres 1PN
(C) 10 lakh litres . iD) 1 million itres
&)

(]
|
o
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% irkle- irrigation is most ‘suitable for

5\'\0& Cay-soils . (B) Loamy soils
ol | =) Sandy soil - (D) Clay loam soils ~ ———u '

The ratia belween yneld and.ETis caiied :
' f 2 Crop water use efficiency~—"" ’
- (B ) Field water use efficiency

J N ) Physiclogical water use efficiency

——

: @J,Jmaah@n-arejed-eﬁﬁaenf" e
— (- ‘éo zpply herbicide pendimethalin at 0. 75 kg a. lfna hewmuch is the commercel proouct
tomp] required? . . Lk 2
J (A) “.5 it : (@201, 0 S
A (C) 2.5 lt ED)) 30 it 2038 a\
. e 1 f -2 3]‘5“{1;’
z!\Ofobahche cernua is the most common parasitic weed of “* /75 ’
@A) Sugarcans . (B) Lucerne .25
’ (C) Tobacco S (D) Sesame
] 7§ ‘
IE\\n\lhncn onz of the fonlowmg is a submzrged aquatrc weed .
i S A Pctamogek_)n D oénn co s (e Mynophyllurn ==
! (C) Typha SRR Salvinia
4 ) é ) .
1 i - recise quantification of gfocherr‘ucals residue could be made by usmg '
(A) TLC © (B) HPLG
a (C: CC (D) Spectrophetemeter - e
~ %Y

Sum Which one cf the following is refatively a more > persistent herbicice ‘-
(A} Pretiiachlor (B) Atrazme
2 (C) Isoproturon (D) Flychlaraiin
(B oo
Which one of the following is a ron-selectiva post-emergence translccated herbicide :
* (A) Paraqust (B) Glyphosate &

.'_3 {C) Glufosinate i (D)2,4-D
-
r———g

—_—

The Mexican beetle Zygogramma bicolorala is used for controliing the weed :
(B) Phalaris minor

(4) Panicurm repens
(D) Parthenium hysterophorus =~

(3) Portulaca oleracea

Strigoi 1s a root exudate from !

(A) Sorghumm~
1C) Potato

(8) Cotton
(D) Sunflower

- {(A) Naliv Ve WEEQS

S oveyEiOE] ;:e,f;_';":' DeIEsISlding vaedl T,
(B) Chencooduin zlbu
(\D) Phaizi

ihe wasn
(A) Avenal
(C} Melilalus 2702

Which one of the,iollowing is a soil applied herbicide
(A) Propani! (B) Paraquat
(C) Glyphosale (D) Atrazine
L_ )

Ajien weeds are called

{BJ Associated weeds

©) Obligaxe weeas (D) Exotic weeds

Which ong of the ﬂebeCIdc is widelv used in rice
(_A) Butachler (B) Pendimsathaiin
(C) Cxyfluorfen {D) Diuron

re-emergence harbleide rechmmeandad for maize + puilse intercropping system i<

+ [A) Atrazine (B) Butachior o
{C) Pendimethaiin (D} Pretilachior

—

sWhich one of tha fellowing weed asts as an altarnate host for rice stem borer. i -
(B) Echinochioa colona .

(A).Sphenoclea zeylanica
(C) Ammania baccilgra (D) Eclipta alba

Ry
TKe scienlific name of the weed,(while horse nettle 1Sy S
(A)Sonchus arvensis B) Solanum xanthocarpuim

{C) Solanum elaegnifoliudi (D) Solanum nigrum

(e
WhICh one-ofthe following is a selective contact herbicide : _
(A Propanil (B) Paraguat

(CyPretitachlor (D) Pendimethalin

f flushing out germinable weed seeds before cropping is called :

(B) Weed eradication
(D) Stale seed bed

The principle o
{A) Soil solarization
(C) Weed prevention
suitable herbicide for wheat + mustard intercropping system is:
(B) lsoproturon

(D) Pendimethalin

The} most
(A) Prometryn
(C) Metalochlor

Which one 67 thé Toiiowiny is growth regutator but not a hormone:
(A) GA, (B) Gibberellic acid

(C) 24D (D) AA - Lk
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3 affron belongs to the family

(J)

4

41,/ The maximum area ofa rectangular field that can be inscribe

Maximum amount of vitamin C is present in | Hopey uke sgorsio . s o attenShie sy 1A O

(A) Chillies / . (B) Apple ) —_— . {A) Downy mildew <BrErgot
(C) Banana e - (D) Pear . X (C) Smui_ (D) Rust
g i, e @) ' ' o
Dead heart in sugarcane is caused by : —_ i .Which one of the following mezsure coLle be applied 1o compare twe sete af 315 Wne?
-{8)Chilo infuscatelly (B) Chilo sacchariphagus indicus their means are near equal .
(C) Chilo partellus (D) Odontotermes obesits i (A) Mean - +8) Median )
. ey (T) Coeﬁicient ofva \Dj Slandard deviation

Lossi, v

¢ “"m}\y\s In stalistical terms ap
'S (A) Arcsine transforma

(B) Inverse sine tran

(C) Log transformatio

(D)Both Aand B

Norin-dwarf genes were introduced in the cereal
(A) Rice ; (B) Wheat
(C)Maize ; o (D) Oat

ion s also known a5

_—_—

Earthing up in sugarcane will reduce the infestatio
(A) Early shoot borer = (B) Inte
(C} Top borer (D) Pink

ncia i ARE

the 3ross Domestic Froduct

‘AMMS‘ The contribution of Agric
sl year 2004-2005 has been
(A) 35% '

(C) 45%

S
y.

(B) 25%
) 55%
out critical difference {CD)
’V{D =tx SE(d)
\’SE ds
D) CD= __(‘__

(A) Orchidaceae S “B) I
(C) Lauraceae o )

Economit part of Isiibgol is. 147 Which one of the followi

@ Ledt " T (®se p-_ EMS
(C) Hus : . (D) (A) _—ovcrallme

oy Which of the following is a Non—Ciimacten’c fruit ' [2EMS -
“* (A) Litchi — (B) - o ) ‘ = —— .
{C) Apple : o (D) B2 @7 e e 11y

thavin ents and 4 replications, the error degraes of ireedom

In a group frequency data, if the lower limit of a clas: VLR

-, 40, then the upper limit of the class is:
T30 : (8) 40 (BD) 372
(C)yso . _ * (D)80 e

reatment is adopted when the number of ireatments exceeds -
B) 14 e

radius *7" is:
| (0} 24

(A) . ; (B) 7, ' _

P N ' N { suitable design for experiment invclving varying number cf tilage and niregen L T
) 7 . : (D) treatments is

LT E (AR o (B) Strip-plot
. ' pa s - i ———— \(Q’l‘:g\ip\ol : : (D) Latin-square
#2. Which one of the following chemical is recommended to control sheath blight of rice - (. _ N

(A) Ediphenphos  (B) Carbendazin (Rawis i) + | o L
(C)Mancozeb (D) Chlorpyrifos I IR0 L
ey | CEI6 17 -
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ching ivoe questions {nos. 151 to 160). Each sub- -question carries One mark,

'\ a1
1\5e the correct answer (A.B.C,D,E) for each sub-question (LI, 1,lv,v) and

]\@lce in the circle (by shading with a HB pencil) on the
wrong ansWer 0. 20 mark will e deducted.

L) atch the following plants with their habit
N) Pisum SalivUm mme— _—(A) Prostrate herb

) Indigofera enneapny/M (B) Twiner

i\('n) Clitoria lernata AC

/ (D) Ereet herb

i\ ) Cajanus CajaR———— :
%) Crotalaria juncea . ... E) Tendril climber ]

,'Zﬂ

Match the following variety / hybrid with thfé corresponding crop

g ) Arfjun (A) Cotton
'ﬁ*.’i) Mahalakshmi (B) Saybeen
5 jii) Kuber (C) Wheat
) Kargil (B).Grouncnut
(E) Maize

L

= V) Athiyaman

Match elements with their function§ in plant
(A) "Activator element

(B) Calalyzer element =

C! Structuras element’

. - (0} Regelatory element
\"’-—-m(E_. Fnarm/nlnrnonf

s
Q iy Oxygen
;-w:(ii) Sulphuire..,
c(m) Potasswm .
) (iv) lIron
& {v) Zinc

Match the concepts with the scientists
() Law of minimum

(i) Law of optima and limiting fautor
(iii) Law of diminishing r2turns

(iv) Law of Inverse yielc - nitrogen
(v) Goncept of leaf are index

(A) Blackman (1905) WMl

(B) Watson (1947) ¢ agy)

(C) Justus Von Liebig (1840)l
© Mitscherlich (1909)u o
(E) Wilcox (1928) i/

icides with their herbicide formulation

A(A) Oxyflurofen
(B) Pendimethalin
~=§(C) Paraquat
sepumexd(D) -Diuren

(E) - Metolachlor

Match the chemical group of herb

(i) Acetamides \\

:Ml Ureas
jiiy Oiphenyl ether=—"

(
(iv) Bipyridyllium
(v) Diniitroanilines

wbd{biﬁbi}b’[&flﬁ
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ﬂa tch the vvecc ’—‘d”‘ - Lty r—. -

f' ¢ : jinalis A Sroad leaved weed

(i) Digitaria sanguing ><,._. ol

(i) Digera arvensis —" D) Peresite ieiat
i Eichhornia ua:@ />,,_r-(;: ;erenmw v;eed

{iv iv) Striga asiatica / (:, Crass weed

#(E) Aqualic weed ._

(v) Cyperus rotundus=
p they are reuonﬂmendeU

sp. with spe:= fIL cro
Kidney beani(

Match.ine Rhizobiui

(i) R.fequminosarur
—%\/,_/_rs peas vilU)

(i) R. trifoli——=
(iii) R. ;apomcum
(iv) R. meliloti
W R. phaseolr

(C) Berseem"'
4 (D) Soybean !l
=B E) fucerne/lv:

I~

Match the .‘ollowmg meteorological parameters with the nstrumcm, ysed o

measure
0} Dhylosynthetlca'!v 2
(i) Direct solar radialio
(i) Atmospheric pressure —
{iv) Wind velocity

(v] Relative hurmidity-—7

(A) Psycnrometer

) Barograph
}.,Quantum sensor
(D) Pyrhaliomeler
(E) Anemcmeler

active radiaticg

Match the Intecnational Institutes withi the country of their location
0] International Board for Plant Gerelic Resources (IBPuR) (A) Syria
(B) Srilanka

(in) Internationa! Institute of Tropicai Agnculture (NTA)

(i) International lrrigation Managemen! Instifute (ML) (C) Rome

(iv) International Rice Research Institute (iRRI) —_ (D) india
(v)rinternational Crops'Research Institute for Semi-And \ (E) Phxhppmes

Tropics (iCRlSAT)

Matchithe fertilizers with their nitrogen content

(i) Ammonium sulphate- - AR B15 % A
(i) Ammonium ch1onde\ ] h _{B) 46.0 %\ )
(iiiy Ureg — "~ h ..4C) 335 % V)
(iv) Ammonium nitrate - (D) 20.6 %\
(v) Anhydrous ammonia T(E)-25.0 %\ )

Wy o.
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